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HZ24 4] ¢ 3 40.0 g0.0
Ha0 4] g 3 40.0 g0.0
[H31 (R1) ) 71 3 | 40.0 | 60.0
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HZ24 4 1 3 5.0 75.0
Ha0 4 g g 50.0 50.0
H31(R1) 4 7 2 00.0 00.0
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H2g 3 1 2 33.3 BB .7
Ha0 3 1 2 33.3 BB.7
[H31 <R13 3 1 2 1 33.3 | 66.7
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H2g 2 1 1 50.0 50.0
Ha0 2 0 2 0.0 | 100.0
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H2g 22 2 20 9.1 90.9
Ha0 1 2 9 18.2 81.8
[H31 <R13 11 2 9 1 18.2 | 81.8
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H2g 3 1 2 33.3 BB .7
Ha0 3 1 2 33.3 B6.7
[H31 <R1> 3 1 2 1 33.3 | 66.7
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H2g 17 3 14 16.7 83.3
Ha0 17 3 14 16.7 83.3
[H31 <R1> 18 3 15 | 16.7 | 83.3
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H2g 101 1 100 1.0 99.0
Ha0 101 3 98 3.0 97.0
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H2g 79 36 43 45.6 54.4
Ha0 26 42 44 48.8 5.2
[H31 <R13 81 4] 40 | 50.6 | 49.4
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H2g 7 0 7 0.0 | 100.0
Ha0 7 0 I 0.0 | 100.0
[H31 <R13 7 0 7 0.0 [100.0
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H2g 3 1 2 33+3 BB .7
H30 3 0 3 0.0 | 100.0
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H2g 8 0 8 0.0 | 100.0
H30 8 1 7 12.5 87.5
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H2g 37 7 30 19.9 B1.1
H30 37 8 29 21.8 75.4
[H31 CR1> 36 9 27 |1 25.0 | 75.0
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H2g i 24 42 36.4 B3.6
H30 i 29 35 45.3 54.7
[H31 <R1> 71 31 40| 43.7 | 56.3
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